



---

# Integration of the $n$ -th order Linear Differential Equations with Coefficients with Variable Exponential Solutions

K. A. Khasseinov<sup>1\*</sup>

<sup>1</sup>Department of Mathematics of Kazakh National Technical University named after K. I. Satpayev Republic of Kazakhstan, 22 Satpayev St., P.O. 050013, Almaty, Kazakhstan.

## Author's contribution

Author KAK designed the study, and wrote the first draft of the manuscript. Ideas, methods and proofs of solutions of LDE carried out by KAK solely. Author read and approved the final manuscript.

Research Article

Received 19<sup>th</sup> October 2012  
Accepted 18<sup>th</sup> January 2013  
Published 16<sup>th</sup> February 2013

---

## ABSTRACT

This paper covers not linear differential equations (LDE) with variable coefficients but respective Riccati type equations which play a similar role to a characteristic equation during integration of LDE with constant coefficients. We have established a certain analogy of problems of integration of LDE in quadratures with a problem of solution to algebraic equations with radicals [5,6,7,8]. Necessary and sufficient condition for existence of an  $e^{\lambda x}$  form solution to an LDE of the  $n$ -th order with variable coefficients has been found. At the end of this paper we give specific examples. The solutions of this method can be used in the studies of properties of thermal conductivity, hydrophobicity of composite materials, development of new technologies multilayer asphalt and three-layer wall panel of heterogeneous materials.

**Keywords:** Characteristic equations of Riccati type; exponential solutions.

---

\*Corresponding author: E-mail: [dorteh77@mail.ru](mailto:dorteh77@mail.ru);

## 1. INTRODUCTION

The  $(n - 1)$ -th order Riccati type characteristic equation

$$[p + r(x)]^{n-1}r(x) + b_{n-1}(x)[p + r(x)]^{n-2}r(x) + \dots + b_1(x)r(x) + b_0(x) = 0, \quad p = \frac{d}{dx}. \quad (1)$$

Here  $[p + r(x)]^k \cdot r(x)$  means the consistent application of the operator  $k$  times  $[p + r(x)]$  to the function  $r(x)$ .

Contains an unknown function  $r(x)$  in the  $n$ -th degree, then it has exactly  $n$  'roots', i.e. solutions, which, of course, may contain constants as particular cases. That is to say

LDE with variable coefficients has a solution of  $e^{\lambda x}$  form [8]. It is necessary to develop methods of finding constant roots of a characteristic equation of Riccati type.

The invariant subspace method is refined to present more unity and more diversity of exact solutions to evolution equations. The key idea is to take subspaces of solutions to linear ordinary differential equations as invariant subspaces that evolution equations admit. A two-component nonlinear system of dissipative equations is analyzed to shed light on the resulting theory, and two concrete examples are given to find invariant subspaces associated with 2nd-order and 3rd-order linear ordinary differential equations and their corresponding exact solutions with generalized separated variables [1,2].

Each step asks for a particular solution of a Riccati differential equation. These Riccati equations appear to be the generalization of the classical characteristic equation for linear time-invariant systems. As linear time-varying (LTV) systems are concerned, characteristic equations can be obtained using the as is well known, the variational equations of nonlinear dynamic systems are linear time-varying (LTV) by nature. In the modal solutions for these LTV equations, the earlier introduced dynamic eigenvalues play a key role. They are closely related to the Lyapunov- and Floquet-exponents of the corresponding nonlinear systems. In this contribution, we present some simple examples for which analytic solutions exist. It is also demonstrated by example how the classical linear time-invariant (LTI) solutions are related to the equilibrium points of the general LTV solutions [3,4].

## 2. RESEARCH

Indeed, linear differential equations with variable coefficients

$$y^{(n)} + b_{n-1}(x)y^{(n-1)} + \dots + b_1(x)y' + b_0(x)y = 0, \quad b_{i-1}(x) \in C(a,b), \quad (2)$$

are common and they have one (or several) solution(s) of  $e^{\lambda x}$  form. In this case, one particular solution to the  $(n - 1)$ -th order Riccati type characteristic equation is a constant  $r_1(x) = \lambda = \text{const.}$

Constant  $\lambda$  can be complex. We have proved the following theorem related to the allocated equations

**Theorem 1:** For the linear differential equation (2) to have a solution of  $e^{\lambda x}$  form, it is necessary and sufficient if number  $\lambda$  satisfies characteristic equation (1), meanwhile equation (2) reduces to:

$$\begin{aligned} & (y' - \lambda y)^{(n-1)} + [\lambda + b_{n-1}(x)](y' - \lambda y)^{(n-2)} + \\ & + [\lambda^2 + b_{n-1}(x)\lambda + b_{n-2}(x)](y' - \lambda y)^{(n-3)} + \dots + [\lambda^{n-2} + b_{n-1}(x)\lambda^{n-3} + \\ & \quad + \dots + b_3(x)\lambda + b_2(x)](y' - \lambda y)' + \\ & + [\lambda^{n-1} + b_{n-1}(x)\lambda^{n-2} + \dots + b_2(x)\lambda + b_1(x)](y' - \lambda y) = 0. \end{aligned} \quad (3)$$

**Proof Necessity:** Let's assume that a particular solution to equation (2) is  $y = e^{\lambda x}$ , i.e. substituting  $e^{\lambda x}$  in (2) and dividing it by an exponent yields

$$\lambda^n + b_{n-1}(x)\lambda^{n-1} + \dots + b_1(x)\lambda + b_0(x) = 0, \quad (4)$$

this proves the theorem.

**Sufficiency:** Suppose that condition (4) is satisfied and let's multiply it term wise by  $e^{\lambda x}$ . As we know a formula for the  $k$ -th derivative of an exponent we see that the function satisfies the equation  $y = e^{\lambda x}$  (2).

And now let's find new coefficients of an equation reduced by one order, i.e. let's transform differential equation (2) to a form which must be proved (3). For this purpose instead of  $b_0(x)$  in equation (2) we substitute its value from (4)

$$\begin{aligned} & y^{(n)} + b_{n-1}(x)y^{(n-1)} + \dots + b_2(x)y'' + b_1(x)y' - \\ & - \lambda y \sum_{i=1}^n b_i(x)\lambda^{i-1} = 0, \quad b_n(x) = 1 \quad \forall x \in (a, b). \end{aligned}$$

Adding and subtracting expression

$$y' \cdot \sum_{i=1}^n b_i(x)\lambda^{i-1},$$

in the above equation yield

$$\begin{aligned} & y^{(n)} + b_{n-1}(x)y^{(n-1)} + \dots + b_2(x)y'' + b_1(x)y' - y' \sum_{i=2}^n b_i(x)\lambda^{i-1} - \\ & - b_1(x)y' + y' \sum_{i=1}^n b_i(x)\lambda^{i-1} - \lambda y \sum_{i=1}^n b_i(x)\lambda^{i-1} = 0. \end{aligned}$$

Annihilating members  $b_1(x)y'$  we export  $\lambda$  as a sign of the first sum, then group the second and the third sums and transform the equation to the following:

$$y^{(n)} + b_{n-1}(x)y^{(n-1)} + \dots + b_3(x)y''' + b_2(x)y'' - \lambda y' \sum_{i=2}^n b_i(x)\lambda^{i-2} + (y' - \lambda y) \sum_{i=1}^n b_i(x)\lambda^{i-1} = 0.$$

Adding and subtracting expression

$$y'' \sum_{i=2}^n b_i(x)\lambda^{i-2},$$

in the above equation yield

$$y^{(n)} + b_{n-1}(x)y^{(n-1)} + \dots + b_3(x)y''' + b_2(x)y'' - y'' \sum_{i=3}^n b_i(x)\lambda^{i-2} - b_2(x)y'' + y'' \sum_{i=2}^n b_i(x)\lambda^{i-2} - \lambda y' \sum_{i=2}^n b_i(x)\lambda^{i-2} + (y' - \lambda y) \sum_{i=1}^n b_i(x)\lambda^{i-1} = 0.$$

Annihilating terms  $b_2(x)y''$  we export  $\lambda$  as a sign of the first sum, then group the second and the third sums, we bring to a derivative sign and transform the equation to the following

$$y^{(n)} + b_{n-1}(x)y^{(n-1)} + \dots + b_4(x)y^{(4)} + b_3(x)y''' - \lambda y'' \sum_{i=3}^n b_i(x)\lambda^{i-3} - (y' - \lambda y)' \sum_{i=2}^n b_i(x)\lambda^{i-2} + (y' - \lambda y) \sum_{i=1}^n b_i(x)\lambda^{i-1} = 0$$

This operation is performed  $(n - 1)$  times in the above-mentioned manner and yields equation (3).

**Consequence 1:** For the equation (2) to have a solution of  $e^{\lambda x}$  form, it is necessary to have such nonzero number as  $\alpha_1, \alpha_2, \dots, \alpha_{n-1}$ , so that the following condition is met

$$b_0(x) + \alpha_1 b_1(x) + \dots + \alpha_{n-1} b_{n-1}(x) = \text{const} \neq 0. \tag{5}$$

The proof is obvious. This condition is remarkable because by means of coefficients of a differential equation it can be easily determined if it has a particular solution of  $e^{\lambda x}$  form.

**Consequence 2:** If an algebraic equation of the  $n$ -th order

$$r^n + b_{n-1}r^{n-1} + b_{n-2}r^{n-2} + \dots + b_1r + b_0 = 0$$

has a root  $\lambda$ , it is represented as follows

$$\begin{aligned} (r - \lambda)[r^{n-1} + (\lambda + b_{n-1})r^{n-2} + (\lambda^2 + b_{n-1}\lambda + b_{n-2})r^{n-3} + \dots + \\ + (\lambda^{n-2} + b_{n-1}\lambda^{n-3} + b_{n-2}\lambda^{n-4} + \dots + b_3\lambda + b_2)r + \\ + (\lambda^{n-1} + b_{n-1}\lambda^{n-2} + b_{n-2}\lambda^{n-3} + \dots + b_2\lambda + b_1)] = 0. \end{aligned} \tag{6}$$

It is being proved similarly to the theorem by adding and subtracting expressions, where the degree  $r^k$  is taken instead of derivative  $y^{(k)}(x)$ .

**Theorem 2:** If characteristic equation

$$r^n(x) + b_{n-1}(x)r^{n-1}(x) + \dots + b_1(x)r(x) + b_0(x) = 0 \tag{7}$$

has  $(n - 1)$  constant roots  $\lambda_1, \lambda_2, \dots, \lambda_{n-1}$ , and functional root  $\lambda(t)$ . Then linear differential equation (2) becomes a non-homogeneous equation with constant coefficients

$$y^{(n-1)} + a_{n-2}y^{(n-2)} + \dots + a_1y' + a_0y = C_n \exp \int_{x_0}^x \lambda(t)dt, \tag{8}$$

where

$$a_0 = (-1)^{n-1} \lambda_1 \lambda_2 \cdot \dots \cdot \lambda_{n-1},$$

$$a_1 = (-1)^{n-2} (\lambda_1 \lambda_2 \cdot \dots \cdot \lambda_{n-2} + \lambda_1 \lambda_2 \cdot \dots \cdot \lambda_{n-3} \lambda_{n-1} + \dots + \lambda_2 \lambda_3 \cdot \dots \cdot \lambda_{n-1}),$$

.....

$$a_{n-2} = -(\lambda_1 + \lambda_2 + \dots + \lambda_{n-1}).$$

It is quite difficult to solve functional algebraic equation (7) and especially to transform and to extract constant roots which existence is assumed. It is therefore necessary to simplify the process of finding roots. We assume existence of solution to LDE with variable coefficients in

$e^{\lambda x}$  form. Equation (7) is true for  $\forall x \in (a, b)$ .

In order to find its constant roots it is necessary to consider algebraic equation yielded from (1), where  $x = x_1 \in (a, b)$ , i.e.

$$r^n + b_{n-1}(x_1)r^{n-1} + \dots + b_1(x_1)r + b_0(x_1) = 0,$$



$$9. \quad y'''' - (x^2 - 4)y'' + (5 - 4x^2)y' + 5x^2y = 0,$$
$$r(x) = 2 \pm i, \quad y_1 = e^{2x} \cdot \cos x, \quad y_2 = e^{2x} \cdot \sin x$$

### 3. CONCLUSION

In this way we have developed and substantiated the algebraic method for integration of one class of LDE of the  $n$  – th order with variable coefficients in the presence of constant roots of the  $(n-1)$ -th order Riccati characteristic equation. We have demonstrated a method of finding constant roots of the above-mentioned equation which can be transformed to an algebraic functional equation coefficients of which can be taken at any point or at different point's .Examples have been given for illustration.

### COMPETING INTERESTS

Author has declared that no competing interests exist.

### REFERENCES

1. Wen-Xiu Ma. A refined invariant subspace method and applications to evolution equations. J. Science China Mathematics. 2012;55(9):1769-1778.
2. Wen-Xiu Ma, Xiang Gu, Liang Gao. A Note on exact solutions to linear differential equations by the matrix exponential. Adv. Appl. Math. Mech. 2009;1:573-580.
3. Van Der Kloet P, Neerhoff FL. Dynamic eigenvalues for scalar linear time-varying systems. Published in 2002, Academic Search.
4. Van Der Kloet P, Neerhoff FL, Waning NH. Some analytic calculations of the characteristic exponents. Int. J. of Bifurcation and Chaos-IJBC. 2007;17(10):3675-3678.
5. Trenogin VA, Khasseinov KA. Solution of the multipoint problem for adjoint equation and green's function//3 Col. On the Qualitative theory of diff. equation, Bolyai Institute Szeged, Hungary. 22-26 Aug 1988.
6. Bogaevsky VN, Povzner AYA. Algebraic methods in nonlinear perturbation theory. Moscow, Nauka. 1987;255.
7. Kulikov NK. Generalized formula for representation of functions. M. Moscow Techn. Institut. 1974;127.
8. Khasseinov KA. Initial and multi-point problems for LDE and characteristic of Riccati type. Synopsis of thesis for degree of a candidate of physic-mathematical sciences. Moscow.1984;114.

© 2013 Khasseinov; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/3.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here:

<http://www.sciencedomain.org/review-history.php?iid=160&id=5&aid=947>